
 

 

 

 

 

 

 

 

Tractive recommendations: Spring preload  :21 mm 
    Rebound damping : 8 clicks 
    
     
 
 
 
 
 
 
 
 

 
 
Read more about how to set up the vehicle and how to adjust the adjusters correctly 
in the Tractive Owner’s manual. 
 
 
 
 

 

 

 

Model  : HONDA VFR1200X CROSSTOURER 2012- 
 
Contents  :Part no.   Pcs. 
   :46HO12-R3505-TR 1 
   :90100001   1 
   :Tractive sticker  2 
   :Owner’s manual  1 
   :PA Bracket   1 
   :Bolt M6x30   2 
   :Washer 6   2   
   :Spacer (nylon)  2 
   :Bolt M6x20   1 
   :Nut M6   1 
   :Bolt M6x16 (Lock)  1    
 

 
 
Before installing this product, check the contents of the kit listed above. If anything is 
missing, please contact your Tractive dealer. 

 

Before installing this product, read the Tractive Owner’s manual! 
 

 

Mounting Instructions  SET-UP DATA 



 

  

 

 

HOW TO INSTALL 

 

1) Put the motorcycle on a workstand so that the rear wheel is of 

the ground. 

 

Make sure the vehicle is secured so it will not tip 

2) Remove the seat. 

3) Remove the side covers on both sides of the gas tank. 

4) Remove the exhaust. Remove or lift the gas tank 

5) Remove the linkage triangle. Remove the shock together with 

the steel fork. 

6) Remove the bolt from the original preload adjuster knob. 

7) Remove the shock while lifting the rear wheel. 

8) Remove the steel fork from the original shock and install it on 

the Tractive shock.  

9) Install the shock. Mount the preload adjuster on the same spot 

as the original preload adjuster. 

10) Mount the plastic spacers H10 between the knob and the 

bracket with bolts and washer M6x30 

11) Mount the bracket on the original spot with bolt M6x20 and nut 

M6. Bolt M6x16 is mounted to prevent turning of the bracket. 

12) Make sure that all parts are installed in the same way as they 

were before the installation. 

 

 

 

 


